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PAPER 1 {BOOKLET A}

Questions 1 to 10 cany 1 mark each. Questions 11 to 15 cany 2 marks each.
For each question, four options are given, One of them Is the correct answer.
Make your choloe (1, 2, 3 or4). Shade the oval (1, 2, 3 or 4) on the Optical
Answer Sheet.

(20 marks)

1 ‘Which one of the following is seven million, four hundred and -

sixty-seven thousand and twenty-iwo?

{n
(2)
(3)
4

7 0D0 489

7 087 422

7 487 022

7 467 220

2 Findthe value of 12 + (85— 25) + 6 x 10,

M
()
(3)
(4)

13

112

120

220



Which of these pairs of fractions are equivalent fractions?

(1) -;— and —l—
{2) % and %
@ lal
0 e

Arrange the following fractions in descending order.

2 5 3
™ 533
@ 533
® 5453
@ 5% 7%



Express % as a decimal.

(1)  0.125

2 o8

3) 125

“ 125

: 7 2

find the value of R
11

(1} 80
5

{2) 12
5

¢y o

. 59

(4) 80

Find the product of 2 and %.

M
@ 1%
@ 25
(4) 3%



10

Express 103 thousandths as a decimal.

(1)- 0.103
{2) 1.03
(3) 1.030
“4) 103

Express 0.04 as a fraction in jts simplest form.

M o
@ 2

@ =
@

250

What is the base of triangle ABC given that its height s AE?

L L T

(1} BE

@ c8
® ce

4 bB



Which one of the following gives the greatest valtie?

(1) 450x10
(2) 400 x 100
(3) 500000+ 10

(4) 550000=100 - -

Mrs Osmen had —;— kg of coffee powder. She gave -} of it to her

neighbour. What was the mass of the coffee powder that she gave to
her neighbour? '

M 4 kg
@ % kg
© 2k
@ Ik



13 The perimeter of a square tie Is -2-. m. Whatis the length of each side

14

of the tite?

M Zm
@ =m
. %25 m
W Zm

The fength of a string is 8.25m. The length of g ribbon is 0.7 m shorler
than the length of the string.  Find the length of the ribbon.

() 7.45m
{2) 7.55m |
@ sem
(4) 8.95m

A total of 44 pupils participated in ateam challenge. The teacher gave
each girl 3 candies and each boy 1 candy. The teacher gave out a
total of 08 candies to all the pupils. How many girls participated in the
team challenge?

1y 12
@ 18
@ 20
.(4) 26



Name: _{ )} Class: Prd{ )

PAPER 1 {BOOKLET B)

Questions 18 to 25 carry 1 matk each. Wirile your answers In the spaces
provided. For questions which require units, give your answers in the units
stated. T

(1'0 marks) .

18 Round off 3 469 902 to the nearest thousand.

Ans:_.

17  Find the value of 348 x 78. )
Ans:

18 Find the value of 487 000 =~ 10 + 100.




Find the value of 48 — 38 + 3 x 4 + 8,

19
Ans:.

20 Jayden painted § of a wall white. He then painted % of the
remaining part of the wall blue. What fraction of the wall is painted
blue?

Ans:
. . 2 5
21 Find the product of 3 and 5

Give your answer a8 a fraction in its simplest form.




22 Flndthevalueof;l% + 3,

Ghieyourmrmaﬁadioﬁinilssimpiastform-

Ans:

23  Find the value of 24.08 + 4.
Give your answer as a decimal.

Ans:

24  What is 425 ml in litres?
Ans:
25 Round off 8,285 to 2 decimal places.
Ans:




Questions 26 to 30 carry 2 marks sach. Show your working clearly in the
provided. For guesiions which require unils, give your answors in the units
stated, "

' {10 marks)

28  Find the diffarence bolwean 854 876 and 279 745 by first rounding off
tha numbers to the nearest hundred.

27 T x134.8=287.4 %200 .

What is the missing number in the box?

Ans;

28  Four identical tins of milkk powdsr cost a tolal of $110.40. Bala had
$15.20 left after paying for 8 such ins. How much money did he have
at first?

Ans: $

10



29 In the figure below, ABCD I8 a square of length 8 cm. Line DC is

paraliel to ine GH. Pomg_mm&l&nn_thﬂmﬁl-l ‘Wheat s the
total area of the shaded parts?

[2 %

Ans: cm?

30 How many times does the digit 2 appear in the numbers from 1 to 30?

Ans:

END OF PAPER

11
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PAPER 2

Questions 1 to 5 canry 2 marke each. Show your working clearly in the space
provided for each question and write your answers in the spaces providad,
For questions which require units, give your answers in the unils siated.

' {10 marks)

1 inseri a palr of brackets to make the number sentence below trus.

20

12 + 36 + 3 + 6 x 2

2 Sally packed a total of 2858 pens info Box A, Box B and Box C &t first.
She then moved 257 pens from Box Ato Box B.  As a result, there was
an equal number of pens in each box, How many pens did Sally pack
in Box A atfirst? - -

3 Peter jogged a distance of 45% lam.. Desmond jogged 10% km less

than Peter. How far did they jog altogether? Give your answer as &
mixed number in its simplest form.




4 There was some lme juice in a jug at firsl. Gopal pouredout2—;- Iof

lime Juice from the jug. After that, Amy poured 1% 1 of ime juice into

the jug. There were 5?12— 1 of fime julce left in the jug. How much

lime Juice was in the jug at first? Give your answer as a mied n_umber
in its simplest form.

5 Jenny had to run a distance of 42.195 km. After she had run 18 920 m,
. how many more kilometres had she Jeft fo run? Give your answer
correct to 2 decimal places. '




For questions 8 io-18, show your working clearly n the_space provided for
each guestion and write your answers in the spaces provided.
The number of marks available is shown In brackets [ ] at the end of sach

guestion or part-question.
(50 marks)

-8 " Mrs Zeng had.12% kg of rice. Mrs Wang had 3 times as much rice as
Mrs Zeng. How many kilograms of rice dii they have altogsther?
Give your answer as a mixed number in its simplest foym.

7 A tap fills 14 identical containers in 7 hours. At this rate, how many
minutes does the tap take o fl % of such a sortainer?

Ans: j [3]




8 In the figure below, BCDE is a rectangle and ABC is a triangle. The
length of BC is 10 crn and the langth of DC 78 6 em.

(a) Name the helght of tiangle ABC given that lis base is BGC.
{b} Find the tolal area of the shaded pasts.

Ans(a) m

{b) 12]




2 A congert ticket was priced at $17. For every 8 tickets purchased,
additional tickets were given free. Find the tolal cost of tickets for
group of 213 paople.

3
a

Ans: [3]

10  Raju had some money. On Mondéy, he spant % of his money on a

-+ -pair of jegns and $43.85 on a iat:két'i On Tuesday, he received 540"

from his mother. He then spert $135 to buy a watch and had $49.75
leftin the end.  How much did the palr of ieans cost?

Ans: ™




"

Kumar had a total of 1030 rexdl, white and yellow roses af fist.  Aftar he
sold 56 red oses, the number of yellow roses was 4 limes the number
of red roses left unsold. After he sold 44 white roses, the number of
yollow roses was 30 fewer than the number of white roses left unsold.
Kumar did not sell any yoliow roses.  How many yvellow rosas did he
have?

Ans; [4]




12 Mr Chew had a total of 350 fish balls and fish.cakes. After selling %

of the fish cakes and 80 fish balis, he had % as many fish balls as fish
cakes left. How many fish balls did-he have ot fist?

Ans: 1%




13  Bob bought 2.4 kp of grapes, 5 kg of hchees eod 15.apples.  He paid
$41.90 for the frults altogether. Find the cost of the & ko of vchees,

Ane: A )




14

In the figure below, GAB, GCD and GEF are tiangies. Pohis A, B, C,
H, D, E and F lie on a straight ine. Trlangle GAB and triangle GEF
have the same areg, The length of CD s 8 em. The length of AB i
% the langth of CD. The length of GHis8cm.  Find the tolal area of
tilangles GAB, GCD and GEF.

8

Ans: (4]




18 At first, Samantha had 54 cards move than Cosy.  After Cory gava 23
cards to Samantha, Samantha had fiwice as many cards as Cory, How
many tands did Samantha have at first?

Ans: 4]

10



18

The total mass of 20 identical textbooks and 18 identical dictionaries is
26.68kg. Each dictionary Iz 4 imes as heavy g5 8 faxtbook.  What is
the difference in mass between a diciionary ang g textbook? Glve your}
answer ip grams. :

Ans: : : [5] o

11



17

Sally had some money at fist Sl*ragavegofharmtoher

father. She spent g of her remaining mohey on food and fransport.

The amount of monay she spent on transport was % the amount of

money she spent on food. She then had $1850 left.

{(a) How much money did Sally bave at first?

(b) How much more money did ‘she spand no foad than on
transport?

: Ans (a)i LA 3] -

{b) [2]

12



18

The cost of each stapler is 3020 more than the cost of each pen.
Each pen casts iwlte as mich as each pancil.  The total cost of Sauch
staplers. 4 auch pany and 2 such penclls is $1.80 mora than the tofal
cost of 4 such staplars. 2 such pens and 4 such pencils.  Find the cost
of each pen.

END OF PAPER

13






NANYANG PRIMARY SCHOOL
FIRST SEMESTRAL EXAMINATION
2015 PRIMARY 5 MATHEMATICS
PAPER 1

1)3 2)2 3) 2 4) 4 5)3 6) 1 7)3 8) 1 9)3
1002 11)3 12)1  13)1 14) 2 15) 4

- 16) 3 470 600
17) 26448
18) 487
19y &
20) 1/18
21) 5/9
22) 3110
23) 6.02
24) 0.425]
25)8.29
26) 375200 . -
27) 100

28) $110.40x2 = $220.80
$220.80+$15.20=$236

29) 1/2x8x8 = 32 sqcm

30) 13 times

PAPER 2
1)12+36+(3+6)x2=20

2) 2868+3 = 956
- 956+256 = 1213

3) 45/3/8+45/3/8-10/2/8 = 80/1/2 km

4) 5/1/12-1/3/4 = 3/1/3
3/1/3+2/1/6 = 5172 1



5) 42.195-19.92 = 22.275 km = 22.28 km
6) 12/5/9x4 = 50/2/9 kg

7) 14 containers — 7h
4/5 container — 4/5+14x7 = 2/5h = 2/5x60min = 24min

8a) DC. )
b) ~ Area of shaded part = 1/2x10x6'=30 sq cm

9) 8+3=11
213+11 = 19 R4
19x8 = 152
152+4 = 156
156x$17 = $2652

. =3
&jeanS— ja &—watoh & leFo—>
$135+$49.75 = $184.75

$184.75-$40+$43.65 = $188.40
$188.40+2 = $94.20,

11) 56+44 = 100
100+30 = 130
1030-130 = 900
900+6=100
100X4 = 400 yeilow roses -

12) | 77
Fc — ZAL 350

Fe| 5

9u -- 350-80 = 270
2u - 2/9x270 = 60
_60+80 = 140 fishballs at first

13) 0.2 kg — $1.20
2.4 kg — 2.4/0.2x$1.20 = $14.40
3 apples -- $1
15 apples -- $5
$41.80-$14.40-35 = $22.50

14) 4+6+4 =14 cm o
_-Area of triangles = 1/2x1 4x8 =56 sq cm’



£— ju —>A 2 >
15) v231 54 |23

2u — 23+23+54 = 100
1u— 1/2x100 = 50
50+23+54 = 127 cards at first

16) 20u+18x4u = 92y
92u — 26680g
3u - 3/92x2668()g 870g

17y [7/‘7//' -

er SFRT ——9(-1&—‘)
3u $1650 (fl650)
a) 10u - 10/3x$1650 = $5500
b) 3u-- $1650 more on food than on transport

+ 18) 20u+1 = 16u+0.80+1.80
20u+1 = 16u+2.60

4u = 2.60-1

2u=1.60+2 = $0.80



